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1. (a) Which are the following true or false (any five): (5]
Faes 6 71 4 @ 3 @ v e s € (@ ia):

(i)

(ii)

(i)

(iv)

(v)

(vi)

'P D q' is true when antecedent is true and consequent is false.
PDQ T & WE [Eadt W a9 3ad] o 2

Inductive argument and deductive are the same.

ST YR T T e @ e 2 |

The universal proposition A and E do not have the existential import.

Fdeard) Taaram A aen E ¥ waeie aed 98 2

Middle term is at the predicate place in both the premises in fig.-II.
II ampfcy # ez we <9 amuR aredl § R & ®IF W 8y

If the antecedent is false, the material implication will be true,
ofe g s B, A aRgTa SNTES e & ‘

A truth-function that has all true in the main col
contradictory.

aﬁww%gmmﬁwﬁm%mWWWMI

umn of its truth table is self

P.T.O.
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(b)

(b)

(vii)  When values of both sides of biconditional are equal it is true.

T4 WAGed D A AR SRR S & A el |

Fill in the blanks (any five): (5]
R wret o W (@1 i)

1) In a valid syllogism when both the premises are affirmative conclusion is

fr du ragfen & ofy QA smuRaTe a8 @ e L B!
(i)  To propositions are contrary when they cannot be .................... together.
3 Teaad AT FEATT & T 9 TD T cevneennrinnnnnnns TE B /P |
(ili)  Every categorical proposition has ................... terms.
ua)'cﬁ et qeara ﬁ ............. S Ug 8§ |
(iv)  The standard form of 'Most logicians are mathematicians'is ...............
IRPR THITE TS B & BT TS ABD ABR B ..eeenneennnens
(v) AAAiS ..o, mood in Figure-1.
Ry — 1 # AAA TR (I8) vevvervnnrennns 2l
(vi)  Middle term mustbe ................ in syllogistic argument.
T FRU e # A0S e BraT B
(vil) 'Some SisP'and 'Some SisnotP'are.................... to each other.
oS, P& o go S,PAS & amaE A 2|
(a) Answer the following (any two) : [4x2=8]

frafafes & S Fife @9 Q)

@ State and explain the distinction between a sentence and a proposition.
R T T H R P @R BRI |

(i)  How is an inductive argument different from a deductive argument? Discuss.

wm%%ﬁwgﬁﬁﬁmwﬁw?ﬁaﬂmm|

(iii)  Discuss the difference between truth and validity.
weaal Od duer @ 49 4g A fean Hfen |

Explain traditional square of opposition. 5]

gRuRe Ry &t & arem #NTL
OR/a1gar

Explain the Existential Impoft.
HATHS AT & arEn S|



(b)

(c)
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(a) Translate the following sentences into their standard logical form (any five): [5]

=t araal o ST AME s MER ¥ IR HA (@1 i)

(1) Children are present. :
= Sufed .

(1))  Not all students are tall.
il B aw T8 2|
(iii)  All students are not hard working.

it B W = E B

(iv)  Only member are voters.
DI A HeeTar €|

(v)  Roses are fragrant.
Teme g B E

(vi)  Most college teachers are regular. -
Ffreie AEIfdenerd s Fafia 8 &)

If 'No students are leaders', is TRUE, what can be said about the truth or falsity of the
following. o [3]

Ife B faerdl Jar 78 & ww €, o el Y Acaar s st @ aR A 41 FET ol
AHT &

(1) Some students are leaders.
T e @ & g

(i)  Some students are not leaders.
Fo fendl 7 78 & 2

(itt)  All students are leaders.
0 et Jar 8 &)

Give the conversion, obversion and the contraposition of the following (any one): [5]

frfaRea & aRad, wfteds o wiRas dfoe (@ @)

@) Some scientists are philosophers.

7 AT IS 81 2 |

(ii)  No roses are ugly flowers.

B T[ATe W B T8 BN |

3 P.T.O.
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(b)

(a) Determine the validity/invalidity of the following using the Venn Diagram method.
(any two) [S5x2=10]
ﬁmﬁf@aaﬂéw/mmﬁwaﬂmﬁmﬁm(ﬁéﬁ): -

(i) EAO-I
(i) AAA-TI
(iii) AOO-1V
OR/zerar

Determine the validity/invalidity of the following using the Method of Six Rules of

syllogism (any two)
[RISIRIECR]

ﬁéﬂﬁ/@éﬂﬁﬁﬁﬂhﬂ_ﬁ:ﬁuﬁaﬁﬁﬁﬁm(ﬁ?ﬁ)i

(1) All children are honest persons.
All honest persons are kind hearted persons.

Therefore some kind hearted persons are children.
) 91 FAMER afd B |

T SRR A qaEE B &

¥ FB WA Al 7 B

(i)  All terrorists are butchers.
All terrorists are cruel persons.
Therefore all cruel persons are butchers.

T deard! HaE B §)
T FEAS R B g
I W AN afm s 8 &)

(iif)  Same students are intelligent persons.
All intelligent persons are absent.
Therefore all absent persons are students.

T BIRER wf srufeer &)
T & agaivra afan el &

Change the following argument into standard form categorcal syllogism and indicate itg
figure and mood. (any one) '

: 4
ﬁw%f@agﬁﬂﬁmmmﬁwaw@ﬁaﬁmwmmmm[%ml
(@2 vo)

(1)  Some philosophers are reformers, so, some idalist are re
philosophers are idealist.
FH RS GIRS 84 € &'ﬁ:aiganasfaré*qia@a,gmgmmﬁm
g &1 T
(i) No sinners are saints and all saints are polite. It follovs that no sinners are polite,

aﬂém&ﬁ#ﬁﬂﬁ%mwﬁﬁam%tmmm@rmﬁ%l

formers since all



5. (a) Symbolize the following using the suggested notations (any five):
faffe sieel & waT axa gY F=fafea &1 wiieiev Aifie (@1 i4)

()

(i)

(iif)

(iv)

)

(vi)

(vii)

Ram and Shyam both will not go to the station. (R, S)
I 3R vm I & 'ee T8 S |

I sit on chair but my cat sits on the ground. (C, G)

gl W doaw € R A9 e i W dSd 8|

It is not the case that he is laborious and he is honest. ( L, H)

a1 78 ¢ % 78 A @ ok a8 $HFER 2

If it does not rain, we will go to plcmc (R, P)
af Tt 7& enf, o 8w Rele T

He is neither wise nor honest. (W, H)

9% 7 9 UHIER 9 & $AFER |

Neither Sita nor Radha are dishonest. (S, R)
T ar ey 9 & 9w 939 2

[ will not purchase this bag unless you too like it. (P, L)
d g8 47 78 @R F9ad P g f 39 wHe 7 B

7863
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(b)  Use truth table method to determine which of the following statements forms are
tautologous, contingent or contradictory: (any one)
F@ wr fafy gwr fuiRa @difve f& feafolen 4 @ 99 4 ooF sToR wqw, 99T st
FTERN & (P D)

(1)
(i)

[(pvg)orlv(por)

[(P2q)e(@op)]op

5]

6. Use truth table to determine the validity/invalidity of the following argument forms
(any one):

ﬁﬂ%@agﬁﬂmaﬁﬁam/aﬁamWWﬁUﬁﬁﬁ%mﬁﬁuﬁﬁm(ﬁiw)

(i)

(i)

~(p>q)
(qvr)
[ ~(peq)

(=] 9)
(porn)
/o (qvr)
OR/a1eren

(51
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“Use the shorter truth-table method to determine the validity/invalidity of the following .
(any one) ' -
mmﬂ@@ﬁﬂﬁfﬂ%ﬁﬁﬁﬁ%ﬂh@ﬂﬂﬁ@ﬁ@ﬁ
@  [(~p>~@>p]>[p>(q>p)]

) [p>@>0]>(>1)

7. Explain and illustrate any two from the following informal fallacies. [Sx2=10]

ﬁmﬁfﬁaaaﬁﬁﬁﬁﬁrﬁaﬁ%mmmml

@) Fallacy of Division

(i) Cofnplex Question
‘B g

(iii)  Argument from Ignorance

SEIELEED

.(v) F allacy of false cause

800
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